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Test of Chinese as a Foreign Language: Listening
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You have 50 minutes to work on this test. There are a total of 50 test items.
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You must indicate your answers ON THE ANSWER SHEET. Answers written on
the question booklet will not be graded.
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Please select only ONE answer from the choice of the possible answers.
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Once the test begins, you may not leave the test room. If you have any questions,

please raise your hand. The test proctor will help you.
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When the test is over, please put your question booklet and answer sheet on the

desk. Please do not leave until the test proctor has collected all of the test materials.
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Part One
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Directions: In this part of the test, each test item comes with a picture. You will hear a

guestion and three possible answers (A), (B), and (C) read aloud. Please use the picture to

choose the most appropriate answer to each statement. Each test item will be read twice, and

there will be a 5-second pause after the question is read for the first time. After the second

reading, you will have five seconds to mark your answer before a new test item begins.
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Then, you will hear one question and three possible answers.
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The correct answer to this test item is (A). Please fill in the corresponding circle on your

answer sheet.
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This is the end of the test instructions. Now, please turn to Part One of the test.
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Directions: In this part of the test, each test item includes three pictures (A), (B), and (C).

You will hear a dialogue read between two speakers. After each dialogue, please choose the

picture that best describes the dialogue. Each dialogue will be read twice with a 5-second

pause in between readings. After the second reading, you will have five seconds to mark your
answer before a new test item begins.
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Then, you will hear a dialogue between two speakers.

E
TPFR TR TR 7
Lo BHE o BT A R

%\mié K(B) %—;}'n p /4”‘ ié—rgt—-l'- |
The correct answer to this test item is (B). Please fill in the corresponding circle on your
answer sheet.
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This is the end of the test instructions. Now, please turn to Part Two of the test.
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Directions: In this part of the test, each test item has three pictures (A), (B), and (C). You

will hear a dialogue between two speakers, with four sentences altogether. After each

dialogue, someone will ask a question about the dialogue. Please choose the picture that best
answers this question. Each dialogue will be read twice, with a 5-second pause in between

each reading. After the second reading, you will have five seconds to mark your answer
before a new test item begins.
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Then, you will hear a dialogue and a question.
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The correct answer to this test item is (C). Please fill in the corresponding circle on your
answer sheet.
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This is the end of the test instructions. Now, please turn to Part Three of the test.
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Part Four
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Directions: In this part of the test, you will hear a dialogue between two speakers. After each
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dialogue, you will be asked a question. Each test item has four possible answers (A), (B), (C)
and (D) listed on your answer sheet. For each question, please choose the best possible
answer, Each test item will only be read once. You will have five seconds to mark your
answer before a new test item begins.
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The correct answer to this test item is (D). Please fill in the corresponding circle on your
answer sheet.
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This is the end of the test instructions. Now, please turn to Part Four of the test.
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